
www.dellonda.co.uk� 1

Rotary Garden Soil Compost Sieve

Model No. DG261
Thank you for purchasing a Dellonda product. Manufactured to a high standard, this product will, if used 
according to these instructions, and properly maintained, give you years of trouble free performance.



2� www.dellonda.co.uk

Important Information
Please read these instructions carefully and note any safe operational requirements, warnings & 
cautions. Use the product correctly and with care for the purpose for which it is intended. Failure 
to do so may cause damage and/or personal injury and will invalidate the warranty. Keep these 
instructions safe for future use.

•	
•	 CONTENTS

•	 ASSEMBLY (fig.1)
•	 Place frame (item 4) over drum and secure using fixings (items 6, 7,  & 8) placed on inside face.
•	 Place feet (item 9) over drum and secure using fixings (items 6, 7,  & 8) placed on inside face.
•	 Screw handle knob (item 1) to handle (item 2).
•	 With spring (item 3) slid onto handle, pass handle shaft through the hole in frame (item 4). 
•	 Locate handle shaft into sleeve on the Separator bar (item 13)and secure using fixings (items 10, 11, 

& 12) 
•	 Pass end of handle shaft through the wire mesh. 
 

Item Description Qty

1 Handle knob 1     

2 Handle 1

3 Spring 1

4 U shape frame    1

5 M6*16 screw    8

6 Washer M6    8

7 Spring Washer M6     8

8 Nut M6    8

9 Feet    2

10 Washer M4 1

11 Spring washer M4 1

12 Nut M4 1

13 Separator bar    1

14 M4*25 screw    1

14

6 - 7 - 8
13

1

2

3

9

4

10 - 11 - 12

5

Refer to
instructions

Wear 
Protective 

Gloves

fig.1



Dellonda Limited
Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

  01284 757575   support@dellonda.co.uk   www.dellonda.co.uk

www.dellonda.co.uk� 3

•	 INSTRUCTIONS
•	 DO NOT fill the unit more than half full and DO NOT use materials that are too wet. 
•	 When sifting soil / compost, place the unit either over a wheel barrow or the area where the sifted 

output is to be deposited.
•	 Rotate the handle and thus the separator bar, until all particles have been passed through the sieve. 
•	 When weeding, place the weed clumps into the unit and rotate the separator bar back and forth to 

separate weeds from soil.

•	 MAINTENANCE
•	 Remove excess soil from unit when finished and wipe it down with damp cloth.
•	 Store in clean dry area.

Environment Protection
Recycle unwanted packaging materials. When this product is no longer required, or has 
reached the end of its useful life, please dispose of it in an environmentally friendly way. 
Drain any fluids (if applicable) into approved containers, in accordance with local regulations. 
It is our policy to continually improve products and we reserve the right to alter data, 
specifications and parts without prior notice. No liability is accepted for incorrect use of this 
product. Guarantee is 12 months from purchase date, proof of which is required for any claim.


